REIAYYARE, Ra7i—bk

DiITe OB (BEHY) OBHA(HELL) N=%8% ~r=2%4%t ZH=%2%
BEEOBFIHBI=UTH

&4 XTEA—F SE5HE BRi5H
BHROAYY20164F E 2 Bk BHHEIAAYYD VS. BEEIOAYYB 2016/05/08 10:15| BEAM= 4 SEEEkIEOTS
E e [REC=BAaLR. RHEERCENA [ ] Remm _ TH. .
IR PR HE% 1 z — i 5 6 7 8 9 HTHHS SRIT HRAT A= iusge ik E% [ A | B
1 ($#)6 87UEH #f |A£f2%51@ MEERE1 =R PoEk TEEEEEE) 2:1i1i0i0:0:{2i0i?2 6 i1
2 (=) 58K NER =3 =R = = 4O) —_— 4i0i1i0i1i2i0i0i0
3 (=) 5002 BB | £220e MikiE1@ hE 2i2i1i0i1i0i1i0if1
4 (58%) 8l #EF R FEERE1@ RS IE 2i1i0i0i0i0i0i1i2
5 €2\ 1988 BE| ERE10 i = 3i1i1i0i0i0i0i{0iH1
6 (#) 85&Il EZ | EZD&E10 h—tet@ﬁugl =3 3i1i2i0i3i0i0{0iT
K EZBEOBEBROBI2EEE - ERREDBIC_2 }
7 (%) 63F# B [=ZDE10 TOTR — ) mERE10 1121 0i1i0i2i0 2
8 (B)¥E 72EHE FEk =5 B iz J@) 3i1i1i0i{0i0:i0i0i0
9 (= WHE 53 k2 H7R B’ =BT 3i{0{1i{0{0i0;0:i0:0
5)— 7 = = == ﬁ
10 /= 2028 —= =0%10 )\ = FZDOO0 3i2i1i0i1i1i0i0:T
: — i EREERC=8
1 (h) 15K4 R =3 EHC=2 hg EHO |, resmwmreEEsEE)..| 2. 0.0 0 1 011 0
12 ($8)= B A GRE) mEkE1@ WL E1 HERORI 1i1i1:i0:i1i0i2i0%2
SEEEB. BB Ak C2E
#20i13i11i0i8i4:i7i2i12 6 i1
B Bx iR BF4 $Z Bk [E] BkEk T#E W #HHR TR ([Smsk| 5wk | B (A0 X5 [BES AR
e 298 EHfE 12/3 12 6 0 1 1 0 7 5 0
Q () o 498K = 41/3 26 5 0 3 6 2 2 6 2 0
S
i
{0
L3




REIAYYARE, Ra7i—bk

DiITe OB (BEHY) OBHA(HELL) N=%8% ~=2%4%t ZH=%2%
BEEOBFIIHBI=UTH

B aAYY2016EE AT E, 2016/05/08 10:15 BmaXAv'YD VS, EmaAy'YB (Bl AR S e EkiEa)Y)

REI*YID Eal3 AR Tis....
FTIIE] i &% i 2 3 4 5 6 7 8 O R T R T S Ut e ek | A | B
1 (%) 25K R= | mEkZ1@ | $%00 =3 2i2i1i0i1i0i1i0%1
2 (=) 3075 H B =i #Z=0 B3 3i1i1i0i0it1ioioio
3 (F)— IR &R ik @ mEROO HERE1@ 0i{3i{0i0i1i0i3i0it1
4 (=) 4985K = JEER EAXR®O ERDE1 2i1i2i1i5:i0i0i1i1
5 Bx 67TRE E:h| AZD =3 it 3{0i1i0i1i0i0i0io0
6 (Z)¥s 55F FRK |  mE® =% R 2:0i1i0i1i0i1i0:i0
7 (=) 195H B2 =ix e mp g £42@ 3i1:1i0i0{1i0:i0iH
8 ()6 ILE 1T = =R =3%0 3:1:0:i0i0i1:i0:i0:0 12i 0
9 (&) 4MEE | =3%0 e —R2D%E 3:1:i1:0i1:0:0:0:1
10 (#)¥5 29728 HE SEEk &3 =R 2i0i0i0i0i1i0i1i0
11 (F&) T8IAK HE{Z —30 7 = 3i1i{0i{0i0i1i0i0:i0
12 €ihra) BN (END =3 SEEK ZZOEH 2i0i1i{0i1i0i0i1i0
| 28i11i9:i1i11i5i5i{3:i5 12: 0
B B iR BFH Bk [E] B3 & WRIT #HHR E=R |(5mik| 5%k | 2% (A0 | X5 |HER 5 35k [B1 5
vt NE8 BE 3 21 5 1 3 4 2 8 2 0
@ O ik 50 E B 3 15 4 0 2 1 1 3 2 0
;2
%
1%
F—L% 1 2 3 4 5 6 7 8 9 10 11 12 g
HEIAYYB 5 2 2 0 0 4 13
HEaAYYD 2 6 1 2 11
AR
aAvk2




